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NEW QUESTION 1
Which protocol does TFTP typically use for transport?

A. RSVP
B. TCP
C.HTTP
D. UDP

Answer: D

NEW QUESTION 2
Which address facilitates the routing of packets over an IP network?

A. physical
B. transport
C. network
D. MAC

Answer: C

NEW QUESTION 3
What are two components of a WAN connection? (Choose two.)

A. CSU/DSU
B. router

C. bridge

D. hub

E. switch

Answer: AB

NEW QUESTION 4
The pins on an RJ-45 cable plug are numbered from 1 through 8. When the metal pins of the plug are facing toward you, pin 1 is the leftmost pin. Which two sets
of pins are looped on an RJ-45 56K loopback plug? (Choose two.)

A. pins 2 and 7 B.pins 2 and 8
B. pins 2 and 5 D.pins 1 and 7
C.pinsland4

Answer: CE

NEW QUESTION 5
Which type of memory stores the configuration of a router or switch by default?

A. RAM
B. ROM
C. NVRAM
D. flash

Answer: A

NEW QUESTION 6
Which type of memory stores the decompressed form of Cisco I0OS Software and the running configuration?

A. flash

B. ROM

C. NVRAM
D. DRAM

Answer: D

NEW QUESTION 7

When you deploy Cisco Catalyst 3850 Series switches, which two modes of operation can you choose from?
A. Active mode and Standby mode

B. Install mode and Bundle mode

C. Boot mode and Run mode

D. Exec mode and User mode

Answer: B

NEW QUESTION 8
At the interface configuration prompt, which command returns you to the main configuration prompt?
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A. end
B. clear
C. quit
D. exit

Answer: D

NEW QUESTION 9
Which Windows-based text editor is preferred for working with a simple text document, such as a Cisco configuration?

A. Microsoft Word

B. Microsoft Notepad
C. Microsoft Access
D. Microsoft Excel

Answer: B

NEW QUESTION 10
From the enable mode, which command loads the configuration during the password recovery process on a Cisco router?

A. load_helper

B. configure terminal

C. copy running-config startup-config
D. copy startup-config running-config

Answer: D

NEW QUESTION 10
TFTP is a simple protocol for transferring files, such as a Cisco 10S or configuration file, from one device to another. Which device can be configured as a TFTP
server?

A. Cisco Content Engine
B. modem

C. Cisco router

D. CSU/DSU

Answer: C

NEW QUESTION 11
ESD is the sudden and momentary electric current that flows between two objects at different electrical potentials, caused by direct contact or induced by an
electrostatic field. Which three tools are used to avoid ESD? (Choose three.)

A. negative static bag
B. antistatic mat

C. ESD wrist strap

D. negative static mat
E. antistatic bag

F. latex gloves

Answer: BCE

NEW QUESTION 14
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